Using your notes from the lesson answer the question below. You have been provided with a copy of the mark scheme to help you structure your answer.
Question;
Explain why many LEDCs suffer from food shortages, even though a large percentage of their population are farmers. (7)



Levels of response marking
Level 1 (1–3 marks)
Simple statements including limited detail relating issue to food shortage. No or incorrect reference to LEDCs. Refers to either physical or human factors but not both.
E.g. Drought means crops don’t have enough water to grow 

Level 2 (4 to 6 marks)
 Some development, candidate includes both human and physical factors. Some examples given.
E.g. Countries such as Mauritania in west Africa suffer from locust plagues which strip every plant preventing growth of crops. 

Level 3 (7 marks)
More developed linked sentences which clearly exemplify how the factor leads to food shortages. A number of examples are provided. Will include human and physical and explicitly reference why this effects LEDCs.
Countries such as Mauritania in West Africa suffer from locust plagues which strip every plant preventing growth of crops. As an LEDC Mauritania cannot afford enough planes to spray the locusts and prevent future plagues. 
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